
Simplify

1)  -3a2 x (4a5)3 = 

2)  4e2f7 x 2e3f = 

3)  2(3m4n5)2  
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4)  (5a2p+2)4  
5)  
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. Expanding & Simplifying: What do you notice? .
1) 
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Expanding removes brackets by multiplying into each term.

(Expand brackets first)
 Watch out for negatives!   Collect ‘like’ terms

1)  3(m + 1) + 2(m + 2)



5)  4x + 3(x + 5)
2)  5(m – 2) + 3(2m – 1)


6)  -4(m + 3) + 5(2m – 1)
3)  5(e + 6) – 4(e – 3)



7)  6 – 2(3x + 7)
4)  6(2p + 1) – 2(p + 4)



 8)  3w + 2(4w – 5) + 10

Multiply each term in the 
first bracket with each term 
in the second bracket

Watch the negatives

Remember from two brackets
four terms are produced

Write out both brackets then expand







Work on one pair of brackets, simplify, then expand into the next bracket


































Achieve!





Ex 1.06








Ex 1.04














Ex 1.03





Ex 1.02








Ex 1.01





Theta 


Ex 1.06





1) (m + 3)(m + 2)( m + 1) =

















2) (w + 4)2(w + 1) =

















3) (x – 2)(x + 3)(x – 4) =











4) (2h – 5)(h + 2)(2h + 3) =














5) (3t + 2)(3t – 2)(t + 3) =














6) (g + 3)3 =














7) (2x – 3y)3 =





Expanding cubics





Examples


1) (m – 4)(m + 8) = 





2) (p – 4)(p – 8) = 





3) (2a – 5)(a – 3) =





4) (3x – 4)(4x + 5) =





5) (3x – 14)(7 – 5x) =





Theta 


Ex 1.04


Mixed Q


Ex 1.05





Examples


1) (m + 5)(m – 5) =











2) (5w + 9)(5w – 9) =








3) (h – 7)(h + 7) =











4) (4a2 + 3e5)(4a2 – 3e5) =





Theta 


Ex 1.01





Difference between two squares








Examples


1) (m + 5)2 =  					2) (2t + 9)2 =  








3) (5 – 2y3)2 =  					4) (2x3 – 7y4)2 =  





Perfect squares





Theta 


Ex 1.03









































Theta 


Ex 1.02





HW Theta pg 1,2








Starter 





Expanding quadratics








Expanding single brackets
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